RS YRS LA TR

HEF: 2021412 A 28 H

YK

PENE A R Skad 2 hii)

Tt e B 1]

S A

— (1

ED'E

Mk
AL 11 IR=, Uik
R I fE AT 4.7

10 434

M3k
BRI 34-36 TT

10 434

i

M3k
FaiE 21 O Sk MR =k

10 434

30 44

— (2)

=B

D%:

1. PIE S\ .

2. AIRPE 11, 12 HiAiE
“BIE . RIS FIEF. LR
A WG4 7 NN SRR | I A7
M. DU EF”

10 434

M3k
BRI 34-36 TT

Mk: 1 58R0CF KBS
251

2 NIRRT TR 7SS R
1]

10 434

30 48

— (3

ED'E

B

1. AT HR A 25 9 ¢ [l B A 12
BRIAE

2.5 105 T 11 AMiA)iE, I
M3k 7 8% 2 1o

3. —7Y 101 W 4 AJiEiE.

10 434

M3k
$#EH 58.59 T

5 41

i

13k

158 FREIES % 1
2 NIRRT TR /SRS R
il

10 434

25 Grgp

— (4

ED'E

3k

1. BB (SRR
HZK) 5 NG .

2. T2 14 (/higse), TR
FAGLURSC 3 3, IE#PFAE
T 3.

10 434

M3k
P 58.59 I

5 -

25 Grgp




i

M3k: 158 FREIE %
251

2 NIRRT TR 7SS R
1]

10 434

— (5)

B

D%:

1. A HR 5 25 5 S [ 3]
)38 A R
2.1 101 7L 4 AJIEIE,
3G — 1 (T8
H5eho

10 434

REW
15024 P60 P H LA I
A B R

5 41

ke

15 434

— (6)

M3k:

M3k
15024 P60 A H K LI
ENIZ IR

5 7%

M3k:

12 M3 Revision HiEE5)

10 434

15 434

s

1. B3] ##5-8 17 2. Bk
ap 1 R/ A

30-35 7%k

30-35 7%k

TEERAYHRAE I AR

H#H: 2021412 A 28 H

Yrel

PEMP A R B 1 Skad 2 i)

5E R [A]

SATHIR[E]

=D

ks
152 31 45 DU 267

M3k
L IRILTTR

SEN
1.1 Hiid]

30 4%

= (2

ks
152 31 45 DU 26 7
2.4 5] B AT BRI

20 7

ke

5 41




1 HIIEAR
D%:

g | 1BE P2~49 n
RN PYEr ST s ri
3B AW +EIR

k.
W | 1.BEIR IS 15 4 %h
2.5 2] 2 SRS RS
k.

By 24 5 /4
= (3) B ko e
13k

1.3 P2~49
HiTE 15

KA s e

3.8 2 Fid+ i

35 4rf

SEN
n
W gt 15 5

Mk,
B 5 434
. 1. HaRiE O
= D EN 35 4r4f
ey | 13E P2~49
KA g S

3.8 2 Fid+ i

1AEMNEAL 20 4 (2 4D
AR E | 2. R ENE 15 S (3 4D 15-20 4
3.kgR: 14380 (34D

AR PR F LA R
H#H: 2021 412 A 28 H

PE (N AN CE RN ESUS SR LD Tt 5 BCH [a] ST IE]
W | e AN 20 414k
Ly e [ eE A 20 4rkh o
o s Hi: WIE%
JEiE s . 20 435
M3k #23&%, 7 Our school
Hsk: B35 )\8I0 (A,
15 20 7k
B b . R e
= (2 B | e N 20 435 60
H: WTIESS
A
G H3k: 355, T Our school 20 Jr#
= () gy | PH: LEANERRT 15 4éi 50
2.%:2]




iz hgR2

20 4%

D%:

1. #dE M3U2-M3U3
Fif

1. HF BRI AS B
2.5 ERE 16 Aninsect

15 434

=

[EBE

Ho: %>); BHITe

20 4%

P 2012 & H

25 Grgp

et

M3k

1. ik M3U2-M3U3
SE]

1. B A ]
2.5 B 516 Aninsect

60

= (5

(=B

B2 TN TR AN
LA <1137 e 3 S < A T
1%

Pif: VT1E 2014 %

M3k
1.75 My faavourite plant

2.5 A

45

s

L. FFAEBE GRE I B
W JH. D

2. MEBRIZE 15 N/4H%5
H

15-20 7%

15-20 2%

WER S PN B N A7 HEH: 2021412 A 28 H

HE

PEME AR GEER I Skid 2 o)

Tt e B 1]

S A

a1

ED'E

RElIiE
L BH=%7n, B HRE
T

2. 05 P71 )ik,

o
1. /N3]

SETEE
1. B1E Cmy school A1
A&

15 734l

60 7%

(2>

SELLE
1. EiRER 18-20 A FE

20 7

60 7%




7S 16 17 6 A%

SHIE
1. 4520 4%

25 7 Eh

i

SETEE
1. HYEmy school M3
S

15 734l

g (3

(=B

P
1. 5 )87 50, 46, 32, 13
il

N o

20 7

SELIE
L. B 22 49-52

20 435

13k
1. IFM4U3 BiF 3R
2. 5 IMAU3 N2

60 7%

g (4)

(=B

SEIF

L BRE AN s
2. Pik—uk

3. EM: BHEBZMAN

25 7

SEIE
1. /NGR2)

20 7

SETih
1.5 2JM4 3 T ]
2.8 EX

15 7%

60 )4

g (5

(=B

RRILE
LATIE 2 54
2. SEFRUE S5 16 [ 4>

20 7

SR
1. 45204%

20 7

P :
1. & SIM2 3 1 H ]
2. E2EC

20 7B

60 7>

R

1. JEHA R 20/3 4H 2.
Bkag 1 8h/dH*3 41 3. °F
WSZFE 1 5eh/4H+3 41

20-30 3

20-30 35




TLAER SRS A TR H#: 2021412 H 28 H

Prd Pl 28 (BT TSk ) R S
5E I H (]
W | B 2 1-2 Bt 20 73 %h
o i igzlﬁ:i?sz 20 73
B 13k 551 M2 B 50 77t
BEE | B 158 M2 4] 20 43 %h
21T IE MaU3 KA
| TR B NHIG
B . 2 B 20775
g | I, . A P35.-38 20 4%
B2 ke 550 M2 T c0 i
BEE | B 158 M2 4] 20 4%
2.7 1E M4U3 KA
Foi :
_— 1. iTE%ﬂi%j:niﬂ%o 20 4k
2. H )5 BT,
F(3) . BiEi: 1LiTIE&ED 20 60 7%
2. KEAP31-32
Mk 5237 M2 R0 HiR
BEE | B 158 M2 4] 20 4%
23T 1E M4U3 KA
WO | i SERGEE RS 2 20 7B
e | P RASE IR 20 5ph
T (4 F3k: &> M2 B 60 74
WiE | B 1588 M2 45 20 s
yRANR Y VER N
SEA]
W | 1LE ) 1-4 %0, 1T1E%: 20 435
>
B | B RS H I 20 5yh
H (5 Hii: 60 7)-f
1. 5ERM2 2R3
FHE | k. 20 43
1. E>M2 W
2. TEM4U3 BRE 4
1. JF&BE 50 AN/4H#3 4
Y RE | 2. SLEME GEREEBD 15 20-30 734t 20-30 734t
AN/H%3 4 3. BhAR 1 2 dh




/H*3 ZH




